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ZX i = il 5 z a &t
1 Fa T R FT 2,434 2, 851 5,285
2 tEETAEEEESFT 1,183 1,393 2,576
3 B 1,378 1,409 2,781
4 L INERR 1,498 1,399 2,897
5 7—9 T HiE 1,313 1,259 2,572
6 KM/ 1,116 1,199 2,315
1 R /N2 2, 256 2,399 4,655
8 MEEIZI2a=TsEUF— 2, 301 2,161 4,462
9 ¥HIAZIaZTa4EVE— 2,711 2,607 5,318
10 TR e R By o g R e 484 551 1,035
11 EXLazaz=F4tE25— 11 80 157
12 ER/NER 1,386 1,434 2,820
13 BE/INFER 1,01 1,122 2,193
14 FEIZaZT4tEVE— 399 407 806
15 WEIAZa=ZTa4EVE— 1,447 1,417 2, 864
16 tEEISaz=T VA — 1,044 1,135 2,179
17 ZHREE 653 662 1,315
18 HRIZa=T14t25%— 2,748 2,753 5, 501
19 SHIZazZTsEV5— 1,607 1,550 3,157
20 FEIZ2=TasEVF— 574 596 1,170
21 KlUaza=Fqst25— 168 186 354
22 E5s bt a— 125 117 242
23 FBINEEFRARE 2 — 64 59 123
24 BEIZSazZTaEUE— 158 155 313
25 &2zt 5— 334 382 716
26 PRSI a=T4 VR — 513 585 1,098
21 miEAIIaz=T4EVE— 430 431 861
28 ARAZTa=FTaEUE— 127 148 275
29 FHOAZa2Z=T4tEV5— 229 224 453
30 EEDNFR 584 613 1,197
31 bl Spm B ey o e L 485 500 985
32 allasazTqstU 58— 382 449 831
33 FIHEEtE 52— 118 116 234
34 BEMIZIa=-TsEVF— 175 155 330
35 IR S AT 158 190 348
36 ZH/IMNERR 676 19 1,395
317 78 ILIET = 75 R 149 176 1,525
38 AR/ N 363 388 751
a & 33,518 34,571 68, 095




